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1. Beckhoff % %% CX5010—0112 winCE R4t;
2. L ModScan32 AR Uil #58 Bf k16 A L
3. TC2 B (FEE TC2 5 T1C3 #AEAR KX A

HE
. ‘2% TwinCAT_Modbus_Server_CE {4
2. TG, EHE: C\TwinCAT\CE\TCModbusTCP\Install T~ & i
TcModbusTcpSvrCe.1586 Effm iz il #51) CF ~H .
3. RKEEHISER B R RRE TR E SIS (CERhost), Xiff TcModbusTcpSvrCe.1586
X, B3RS
4. {E TC2 PLC H7E XN T A&
mb0_10 AT %MBO :ARRAY[1..1000] OF WORD;
1b0_10 AT %IBO :ARRAY[1..1000] OF WORD;
Qb0 10 AT %QBO0 :ARRAY[1..1000] OF WORD;
mb_Input_Coils - ARRAY [0..255] OF BOOL;
mb_Output_Coils - ARRAY [0..255] OF BOOL;
mb_Input_Registers : ARRAY [0..255] OF WORD;
mb_Output_Registers : ARRAY [0..255] OF WORD;
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Mapping between Modbus and [
In Modbus, the following four addressing are defined

Modbus "1 Data type Access

Digital inputs (discrete inputs) 1 bit read only

Digital outputs (coils) 1 bit read and write

Input register 16 bit read only

Output register 16 bit read and write




The individual can be addressed with 0 - 0xFFFF. The [JifE server maps these addresses to the individual [JNEEIEER. The standard settings are shown in the following te

Modbus [T 5 Modbus address | [T
Digital inputs 0x0000 - 0xFFFF Index group Index offset
0xF021 - process image of the physical inputs (bit access) 0x0
0x8000 - 0xB0FF HName of the variables in the PLC program Data type

mb_Input_Coils ARRAY [0..255] OF BOOL
Digital outputs (coils) 0x0000 - 0x7FFF Index group Index offset
0xF031 - process image of the physical outputs (bit access) 0x0
0x8000 - 0x80FF Hame of the variables in the PLC program Data type

.mb_Output_Coils

ARRAY [0..255] OF BOOL

Input registers

0x0000 - 0x7FFF Index group Index offset
0xF020 - process image of the physical inputs 0x0
0x8000 - 0x80FF Hame of the variables in the PLC program Data type

.mb_Input_Registers

ARRAY [0..255] OF WORD

Qutput registers

0x0000 - 0x2FFF Index group Index offset
0xF030 - process image of the physical outputs 0x0

0x3000 - 0xBFFF 0x4020 - PLC memory 0x0

0x6000 - 0x7FFF 0x4040 - PLC data 0x0

0x8000 - 0x80FF Name of the variables in the PLC program Data type

.mb_Output_Registers

ARRAY [0..255] OF WORD

Tk B AR B (1 5 -

: ARRAY [0..255] OF BOOL;

: ARRAY [0..255] OF BOOL;

: ARRAY [0..255] OF WORD;
: ARRAY [0..255] OF WORD;

mb_Input_Coils
mb_Output_Coils
mb_Input_Registers
mb_Output_Registers

B _ETRAS AT D, H e R R AR bE B 3 W2 0x8000 (32768) +1
BoolL E#i A\ ( 'f_hi)

mb0_10 (%hB0)
1b0_10{24I1B0)

| E--Qb0_10 (3QB0) b |
| B--rrb_Input_Caoils
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Device Id: El

Address: MODBUS Paint Type
100 [0z: INPUT STATUS =]

Number of F
Valid Slave

Length:

132?69\<1> 132776: «0» 132783: <0> 132790: <0: 1327
132770: <1y 132777: <0> 132784: <0> 132791: <0: 1327
132771 <0> 132778: <0> 132¥85: <0> 132¥92: <0> 1327

[ mh Inout Cai..

BOOL E#iHi (1;%/5’ )

mb0_10 (*:MB0)
b0_10 (%1B0)
Qh0_10 (>080)
trb_Input_Coils
b_Output_Cails
kb _Output_
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-- HodScal

Address:

Device Id:
MODBUS Point Type

Hrite Coil

T - Hode: |1
~mb_Output_C... = ade

mi_Output_C. Address W
-rb_Output_C.

~ | Val

mb_Output_C.. = “e(__ net
-mb_Output_C.

mi_Output_C.
--mb_Output_GC... = Cancel

mb_COutput_C... =
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E--mhb_Input_Fegist...
-mb_nput_Re... =37
~mb_lnput_Re... =
~mhb_|nput_ Re... = Dewvice Id: II|
Z ;32769
g :EEEE e 200 Address: MODBUS Paint Type
~mb_lnput_Re... = Length: (100 |04: INPUT REGISTER |
~mb_lnput_Fe... =
~mb_lnput_Re... =
-mb_Input_Re.. =
~mi_lnput_Fe.. =
“mb_Input_Pe.. = 332769; <00037> 332776: <00000> 332783: <00C
~mb_Input Pe.. = 332770 04<00000> 332777: <00000> 332784: <00C
~mb_Input_Fe... = 332771: <00000> 332778: <00000> 332785: <00C
b Inout Re... = 332772: <00046> 332779: <00000> 332786: <00C

Sl (B/5)

------- mb_Output_R... = 59
------- mh_Output B =0
----- mb Outout B =22

Address:

Device Id: III

MODBUS Point Type

=

100

mh_Output_F... =0
------- mb_Output_R.. =

------- mhb_Dutput_R... =0
------- mb_Output_F... =0
------- mb_Output_F.. =0
------- mh_Output_R... =0
------- mb_Cutput_R... =0

Length:

: <00017:
: <000e9:

------- mh_Output_F... =0 . <00000:
co«<noo2z:

....... - : <00000:
mhb_Output_F.. =0 . 00000~

------- mb_Output_F... =0
------- mb_Output_F.. =0
------- mh_Output_R... =0
------- mb_Cutput_F... =0
------- mh_Output_F... =0
------- mb_Output_R... =0

: <00000:

------- m b:O utput_R.. =0
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IbO_10 AT %IB0 :ARRAY[1..9] OF BOOL;
IbO_11 AT %IB10 :ARRAY[1..100] OF WORD;
Qb0_10 AT %QB0 :ARRAY[1..9] OF BOOL;
Qb0_11 AT %QB10 :ARRAY[1..100] OF WORD;

Hode:

¥alue:

WHrite Kegiszter
—
hddvess: [32TT0
T

Cancel

B PLC TR 14 Byte R ALHE bool ZZHf]. SO:

Bool &y N (HiE):

. EOE =2E =25

Device Id: III

MODBUS Point Type

- Dis(E| =& BlEa 82
[TRUE]

|I]2: INPUT STATUS

[

:o«lx
:o«lx
:o«lx
;<0
:o«lx
:o«lx
c <0
:o«lx
:oelx

10019:
10020:
10021 :
10022
10023 :
10024 :
10025
10026
10027 :

<0
<0
<0
<0
<0
<0
<0
<0
<0

10028:
10029:
10030:
10031 :
10032:
10033:
10034 :
10035:
10036:

<0
<0
<0
<0
<0
<0
<0
<0
<0

|03: HOLDING REGISTER |
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Device Id: | 1
. Nu
Address: MODBUS Point Type

Length: (100 |01: COIL STATUS i

E-1h0_11 (%IB10
=R i A=)
~~Qb0_10[1] =
~-Qb0_10[2] =
~Qb0_10[3] =
~-Qb0_10[4] = [
~-Qb0_10[5] = [
~-Qb0_10[6] = &
~Qb0_10[7] = [
~-Qb0_10[8] = [
~-Qb0_10[9] =
E-Qb0_11 (%0B10)

—

Hrite Coil

Hode: |1
Address: IT

sEEN (B!

E-1k0 1D[4|BD] ' ] =] L= e ) =) o ] rt]
—1b0_10[1] = HE D= EE =
== ModSca3d
Device Id: II'
. Numb:
Address: MODBUS Point Type Valid ¢
Length:  [100 04: INPUT REGISTER |
':::::::ES—H[?TS 30001: <00257> 30010: <00000: 30019: <00000> 3002
1103 = 30002: <00000> 30011: <00000> 30020: <00000> 3002
~-1b0_11[4] =0 39003: <00000> 30012 <00000: 30021: <00000> 3003
~{l0_11[5] = 0 30004« <00000> 30013 <00000> 30022 <00000> 3003
~elb0_11[6] = 0 30005: 2Q0000> 30014: <00000> 30023: <00000> 3003
b0 1171 =0 30006: <00®37> 30015 <00000> 30024: <00000> 3003

AmEan . R T AAAarE cEAmAE e AAAa

TER: 30001-30005 1% Hi 1 & X Bool it A\ 28] 7 FH
SN (BL/5)

th__

Ihi_10[7] =
-lp0_10[8] =
b 0_10[9] =

Device Id: 1
Address: MODBUS Point Type ‘

Length:  [100 03: HOLDING REGISTER  ~|

-------- Bk 1 1] i T
] < > |
Qb0_T1[2] = 29 <00000> 41

<00000:

-0kl 1 = 00000
Qb1 <00ooo:
-0 _1




